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The corollary is if also f is conformal transformation of D with conformal inverse f~!, then f(z) = az and |a| = 1.
Schwarz Lemma is that |f(z)] <1 and f(0) = 0 then |f(2)] < |z| and |f/(0)| < 1.

Apply Schwarz lemma to f and to f~!.
|f(2)] = |z]
[(fFH(0) <1
(ff)(0)=1
S 0) =1
S f(z) =az

Theorem we tried to see in Friday, a conformal transformation of D onto D have the form,

f(2) = wga(2)

¢a(z)_ zZ—a

l-az
lwl|=1 Ja] <1

Proof is that suppose f is a conformal transformation of D then f(0) = a.




